5.10 CASE STUDY

In preparation for carrying out estimations and hypothesis tests at the end of future
chapters, it is suggested that, at this stage, you produce histograms for:
(To separate the groups refer to Chapter 14, sections 2.1.7, 5.1.12 or 8.1.7)

e Gross sales for all outlets together; gross sales for each type of outlet
separately

e Market value of all outlets together; market value of each type of outlet
separately

e Number of full-time employees for all outlets together; number of full-time
employees for each type of outlet separately

e Number of part-time employees for all outlets together; number of part-time
employees for each type of outlet separately

e Wages as % of sales for all outlets together; wages as % of sales for each type
of outlet separately

e Advertising as % of sales for all outlets together; advertising as % of sales for
each type of outlet separately

e Gross sales for all outlets together; gross sales for each type of outlet separately

Gross sales of all types of outlet Gross sales for takeaways
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This data all appears to be too positively skewed to be judged as normal. Tests for
normality on this data will be carried out later.



e Market value of all outlets together; market value of each type of outlet

separately
Market value of all types of outlet Market value of takeaways
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This data all appears to be too positively skewed to be judged as normal. Tests for
normality on this data will be carried out later.




e Number of full-time employees for all outlets together; number of full-time

employees for each type of outlet separately

Number of full-time employees for all outlets No. of FT employees for takeaways
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This data all appears to be too positively skewed to be judged as normal. Tests for
normality on this data will be carried out later.

Number of part-time employees for all outlets together; number of part-time

employees for each type of outlet separately

Number of part-time employees for all outlets

No. of PT employees for takeaways
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This data all appears to be too positively skewed to be judged as normal. Tests for
normality on this data will be carried out later.




e Wages as % of sales for all outlets together; wages as % of sales for each type

of outlet separately

Woages as a percentage of sales for all outlets

Wages as % of sales for takeaways
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This data all appears to be normal.

e Adbvertising as percentage of sales for all outlets together; advertising as a
percentage of sales for each type of outlet separately

Advertising as a percentage of sales for all outlets
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This data all appears to be normal.
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